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) 35,000,000 35,000
-CH €217 =204 ZAHL=80m)
100,000,000 100,000
—CA 2Pl NB =2 A BAHL=100m)
40,000,000 40,000
~CF SR OFARHM 2| AHL=300m)
40,000, 0002 40,000
_CA Q2P 012 OIARIMDI| BAHLS
40m) 45,000, 0002 45,000
SCE UKD OIS OIABLMSI| B
AH(L=320m) 35,000,000 35,000
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AN AZUSH
M CHLA(WELER/ER)
ool TRAadatk] EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,326,000
s 18,156,916
c2AL2e 20,734,916 22,969,883 N2,234,967
N 1,252,000
== 1,326,000
[Ea 18,156,916
=E=3H| 3,227,122 3,913,682 686,560
201 =3 5,000 5,000 0
01 At2t2lt] 5,000 5,000 0
Ogit=3H| 3,000
ESEAH 28 2238 3,000,000& 3,000
o=l 2,000
SsEAH 24 2,000,000& 2,000
202 04| 7,600 7,600
01 =LHO LI 7,600 7,600
OZ=EHIAIE HRFA 7,600,000 7,600
203 HR=H] 3,450 3,450
03 A=A RN 3,450 3,450
O A=A 230,000 %152 3,450
401 AIEHIX 20HH 3,211,072 3,897,632 686,560
01 AlZ2H| 3,202,189 3,887,534 A685,345
OJl2 & A28l 112,189
—&AIZ I 3,290,000, 0003 %3.41% 112,189
OAl&H| 3,000,000
-0k YLUARH(ZE198) &2 EHES
AH(L=0.58km) 300,000,000 300,000
-tHE MORRIXIH(ZE198) &2 Jd8HA
S AHL=0.41km) 500,000,000 500,000
-4 PAEZ(ZE10S) 282 EXISAHL
=1.6%m) 1, 140,000,000 1,140,000
- PEUXNES-RESHE BEEXIAY
(L=0.26km) 250,000,000 250,000
-3 X0IBARHZE4E) &2 HENES
AHL=0.44km) 400,000,000& 400,000
-4 HARIR(ZE26S) &2 FHISAHL=0.
3km) 100,000,000 100,000
-UE U=0S(2=B3) &2 SEFHIAHL
=2.0km) 100,000,000 100,000
-9 gu~otel2H(ZE198) E& EXZAK
L=0.7km) 300,000,000 300,000
03 Al 20HHI 8,883 10,098 A1,215
O==dH| 3,290,000, 000&%0.27% 8,883
sEEZ Fdl 4,869,520 8,643,415 A3,773,8%
203 HR=AH] 2,000 2,000 0
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SN ALDED
M CHLA(WELER/ER)
el S2A42L] (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 A=A RN 2,000 2,000 0
OL=Z A =& 200,000& *102] 2,000
401 AlEHIZ S 0HBI 4,867,520 8,641,415 N3,773,8%
01 AlZH| 4,855,520 8,620,540 A3,765,020
OJiz & AAIEAH 185,520
—& A2 A 4,800,000,0003 #3.24% 185,520
OAl&H| 4,700,000
21X H20t2(s243) U2 SEETAK(
L=1. 1km) 400,000,002 400,000
2D OHE0IS(5363) MYR SHTHTAK
[=0.85km) 350,000,000 360,000
g AE0ES(=1088) A2 SHEHIAK
L=1. 18km) 400,000,000 400,000
-d4 ot 2-FH OIS (S3065) 2 X
ZZAHL=0.96km) 500,000,000 500,000
“TiEt NS (=20658) AYER TR
AH(L=0.88km) 600,000, 0002 600,000
B ST (EN55) G SN 2
AH(L=0.42km) 150,000,000 150,000
-S4 A0S (s245) UZ2 SEETAK(
1=0.8km) 400,000,000& 400,000
-EA BEOS(s2008) AYUZ SHEHIAK
L=1.2km) 300,000,000 300,000
-20 dAXR(s01E) A2 PR
SA 600,000,000 600,000
-20 JEIXR(s328) =2 HEHESAK
=0. 11km) 300,000,000 300,000
-Z0t 0|720t2(=2083) Y2 SHEHIAK
[=0.56km) 500,000,000 500,000
-&d FHsX2-F232H=1018) 2
& XIS AHL=0.32km) 200,000,000 200,000
03 Al 2 CHHI 12,000 20,875 A\8,875
Os&&= &l 4,800,000,000&*0.25% 12,000
C2AlE RX2el 5,934,274 5,953,786 N19,512
101 @12A4H| 46,068 51,730 Nb,662
04 JIZtNZ22 XS 2+ 46,068 51,730 ADb,662
OuSE A 23,79
=] 78,8803 x72H+38 17,039
-Of2t=& 78,8803 x 72 x50%*22] 5,680
-2+AH| 5,000 722 <33 1,080
OZAFy HARE 22,269
-Jl=s 78,8803 x1H#217L 17,117
-RERLs" S 78,8803 18 »42 3,313
-2 20,429,920« 1,839
201 er2 3| 239,920 240,200 A280
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2A: Aduns
BN CEoMm(REUSER/CE)
ool TRAadatk] EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
01 AtR2telt] 171,950 172,150 A200
Oglt=2H| 58,200
-C2FH ADE 100,0002 *405 4,000
A ECMZE 100,000 *20S 2,000
-SoliCHH F3ds 300,000& *150= 45,000
~&oHE 2eHF0LU 4003 *15,0004 6,000
~S20EI| HEL 7
600,000& x2% 1,200
Odxt=z 111,350
~C2HHIE 24
770,000 *x2CH+ 102! 15,400
-HEIE¥ 605,000 x2CH+ 103 12,100
~Holti e SHHILIHZ2AD])
770,000& = 14CH 10,780
-Hoiii2E HH|IYIHEZE)
605,000 = 14CH 8,470
-CE22e8 WWAE Xt
800,000 = 12& 9,600
-CZ HM=E=E FUIYXH(Z4A0(0.3m)
660,000 60! 39,600
-C2H U428 HY|XH(24HD10.6m)
770,000 *20 15,400
Onl=hl 2,400
“OHMEAR(Z))], HH3 S) 7L
200,000 x12H *13| 2,400
02 S=29| 67,970 68,050 N80
O3s22 ¥ HA 7,260
-CEEEXE 660
BB REZ 40,0003 *1CH*23] 80
KtS XA 40,0002 *1CH*23] 80
NI=PN=E= N 500,000& *1CH*13] 500
S22 AIRA MRS
100,000& x12& 1,200
-HEl0IEEs Y RoNESHEKEHl S4ltl
L MRS 350,000& =123 4,200
2Ed B ANSEAMAIAE HI|Ies
100,000 12& 1,200
OAE&EHIRXIHI 39,950
~C2FUI(H=D], 837 S) #2
100,000 *20CH 2,000
~Soii M= ZHl =2l
200,000 *25CH 5,000
0= ¥ MHE=FRU 17,950
Bles 1,800 *2,000 £ 3,600
B5 1,700&+8,000 £ 13,600
mEs 5,000&%150 £ 750
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SN ALDED
M C2AHAR(WSYLER/E2)
Chel: E2A4ae] EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
9N F2EY A 2l
15,000,000& 15,000
OH =l 9,760
SOl (EHH) 5,000,000& 5,000
S HE(EAE) ST
1,700 *200 £ *14CH 4,760
OXtet | 11,000
-CE20XE ¥ AL B
11,000,000& 11,000
401 A& HIZLS0HY| 5,583,286 5,629,856 A46,570
01 AlEHI 5,569,798 5,616,256 A46,458
OAAIE A 5,395,000,000& *3.24% 174,798
OAlI&H| 5,395,000
=25 - SEXg FA2A2AIY
400,000,000& 400,000
=5 - SEEZ OtAE TXRI|ALE
400,000,000& 400,000
-C 2 OHEAIEE JH| 200,000,000 200,000
-Hel0IEs+7S AIdES FHl
20,000,000 20,000
~CRYE TXT " 150,000,002 150,000
P SECR 0ERP TR
20,000,000& 20,000
-E2 XA &M 200,000,000& 200,000
29 Wi & =2l 30,000,000& 30,000
-uE OHNEA B4 50,000,000& 50,000
2= Y XEE=Z EH101(185km)
250,000,000& 250,000
2= - SETZ2 ZHID1(405m)
350,000,000& 350,000
-0ISFES 79 HX(4HL)
800,000,000 800,000
-HE HEXR(s228) &2 MEE(L=1.0km)
100,000,000& 100,000
=X AMEXR(2E18) &2 HEZE(L=1.3kn)
150,000, 000& 150,000
-0l 23X 2E288) =2 MEH(L=1.2kn
) 140,000,000& 140,000
“HE AMEAGNZHEE8S) &2 MEE(L
=0.8km) 100,000,000& 100,000
A BAXR(2E75) &2 MEE(L=0.8kn)
100,000, 000& 100,000
-8 SXnxz~0212HZ2E5s) &2
THE ZH(L=0. 8km) 100,000,000& 100,000
~&HE ARBAUOHIUE Y(ZE163) &2 HE
ZH(=0. 3km) 50,000,000& 50,000
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SN ALDED
M CHLA(WELER/ER)
ool TRAadatk] EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-8 UEXR(2E155) &2 AHHFHI(L=0.
1km) 35,000,000& 35,000
-4 AR R(ZE10S) &2 AFHFHI(L0.
Tkm) 50,000,000& 50,000
-EF el 2% AXISAHL=55m)
300,000,000 300,000
08 BEU(REB3) IHSHY HxI(L=0.25
m) 50,000,000& 50,000
A REFU=s2(2E14E) 7 FHI(L0.
2km) 150,000,000 150,000
~R0{ ABXR(51015) SEHI(L=0.5m)
300,000,000 300,000
22 AZ-E2AH(2E28) &2 ERFMIL
=50m) 100,000,000 100,000
-gX otXR(2&15) =2 ZHHI(L=50m)
50,000,000 50,000
-go FSXR(ZESS) =2 ZHI(14])
100,000,000 100,000
-S4 AHOS(2E26S) 2D EF(14])
150,000,000& 150,000
-G F&EY FHI(1A)
400,000,000& 400,000
-gHAn AIEE FH(FLANTL)
100,000,000 100,000
03 Al 2 CHHI 13,488 13,600 A2
OE=2AIE A2l
5,395,000,000& *0.25% 13,488
405 AtatE = 65,000 32,000 33,000
01 TR ESFSHI 65,000 32,000 33,000
C2E+ PRE U FYU(2.5t, HSY)
65,000,000 »1CH 65,000
HEHC EXIAY 2,800,000 3,000,000 A.200,000
403 TR SMSAH=01H 2,800,000 3,000,000 A.200,000
02 SIS0t =S A A 2,800,000 3,000,000 200,000
OUEIC EXIAIE 2,800,000,000& 2,800,000
HE0IES T HEAIS (HEALS) 1,400,000 169,000 1,241,000
= 700,000
[Ea 700,000
401 AIEHIX 20HH 1,400,000 159,000 1,241,000
=S 700,000
s 700,000
01 AlZ8| 1,400,000 169,000 1,241,000
OoglolIEs+4 Ehl 1,400,000,000& 1,400,000
[ 700,000
Ea 700,000
THoH A& X2 HEI (S AKI) 2,504,000 500,000 2,004,000




SN ALDED
M CHLA(WELER/ER)
el S2A42L] (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Xl 1,252,000
=S 626,000
s 626,000
401 Al HIZ R 0HbI 2,504,000 500,000 2,004,000
N 1,252,000
= 626,000
Ea 626,000
01 AlZH| 2,504,000 500,000 2,004,000
OBY SHUIST STAX SUSIEX
ZHIA 2,000,000,000& 2,000,000
Xl 1,000,000
= 500,000
Ea 500,000
OO0l SE2X 7 SSAHK SU/ASEXS &
BIAFS 304,000,000 304,000
N 152,000
= 76,000
[Ea 76,000
O&dE sAX+ S3MA SUEXd 3
HIAHY 200,000,000 200,000
N 100,000
= 50,000
o 50,000
Xot=2te| (et /aotec - +=2) 248,641 115,159 133,482
= 5,100
o 243,541
KIGta=2te] 248,641 115,159 133,482
= 5,100
o 243,541
Kot=0ISAEZA R HEEY =+ 73,000 74,540 1,540
s 5,100
s 67,900
401 AIEHIZ SR OHYI 73,000 74,540 1,540
< 5,100
[Ea 67,900
01 Al&HI 73,000 74,540 21,540
OXlot=0IS A EH AL 53,000,000 53,000
== 3,100
= 49,900
OXlots &5 da=s
20,000,000 20,000
=S 2,000
s 18,000
Klot== 0l 2l 175,641 40,619 135,022




FAN AZUSH
B RSl (B /A6AE - 23)
s Xlot=2tel EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 12,441 27,419 14,978
01 At2teltl 12,441 27,419 A14,978
Oget+=ZHI 12,441
-S3E& Aot HII=EBA =2 12,241
HE2(SE) 294, 4703 240k 7,068
SYEr 120,300 *43H 5,173
~BEXIGHE SEBAL HEE 7
200,000 200
403 AXIEHMSA=0ld 163,200 13,200 150,000
02 SISOt =2 A P E A I 163,200 13,200 150,000
OExXot+==82 &X
30,000, 0002 *57H 150,000
OExAlot+=5d2 22|
1,200,000 * 114 13,200
KSOHLA N (SELXGHL/XALEZAl) 700,000 1,520,000 /820,000
A2 XGAS 700,000 1,520,000 820,000
DI=EX2d 700,000 1,520,000 820,000
401 Al HIZ R 0HbI 700,000 1,520,000 820,000
01 AlZ8| 700,000 1,520,000 820,000
OHEER(ZL - sE&2) UIE8X 243
200,000,000 200,000
OHIHEZZ (0t SIS EXL4
500,000,000& 500,000
UHEns N (nSHSF/HSns - S7SIIE) 18,798,288 12,586,676 6,211,612
= 510,428
N 436,000
Jl 30,000
=S 3,067,657
s 14,754,203
WSEAN =E 365,836 452,331 86,495
= 2,700
= 1,100
[Ea 362,036
WSEAN A= & =E 365,836 442,331 86,495
101 212A4H| 53,99 52,347 1,649
04 JIZtN2Z2 XS+ 53,99 52,347 1,649
OUsSEMAERA 53,9%
-Jl2s 78,8803 x2H 247 38,967
-FaRdsg 78,8803 x2& *67L 10,570
-2E8= 49,536,640« 4,459
201 er=23y| 163,120 171,264 A8, 144
01 AtR2t2|HI 67,072 82,536 15,464
Oogegt+=EHI 47,372




od
i’
o
uJ

-

KIO

Hlw

MEE
Ofl &k2h

Ofl &F2H

7,760
4,500
1,320
2,000
2,500
800
28,492
10,441
11,054
6,538
459
3,600
1,000
1,200

- SRA(E) - HIRAY

P

SRR

5

2

88& 15,0004
200,000 = 107K
50,0003 *50K
80&*10,0004
100,000 +5 & *2

A ACY
100,000& 6 *2

150,000 x35 %102 A
o T o

ot R

*1007 48,6002 *BS=F)*1. 1

FLH

i)

2|

=

o

o
(51,0002 %77148,6002 *7SZ=)*1.1

(51,0002 %1067 48,6002 *4755 3= )*1.1

(51,0002 1657 |48,600& 1905 3= )*1 .1

b 2R 7Y

X

o

X
Mo

=
e

“HAARZE NIE

K0

[l

88,728 7,320

1,400
1,800
1,800
1,800
13,800
3,000
10,800
500
96,048
62,968
5,060
5,060
15,180

5,760

3,840

=1
3]
— o1 -

500,000

=
e

2,530& 2,000

s §

100,000 *30CH

900,000 122

MHIA Zel0IHE 2
2,530 +2,00024

150,000& 6 x2&H

100,000& 7 &2
4003 *1,20001 =122

2,530& 1,500 %4
Jtbilet &Il

20,0003 *16IH 2+ 123

= HAl




od
i’
oF
uJ

S|S
no 88
Klo RS
E
F=)
SIS 218 818 218 818 8 8 8
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2A:
X XH -
o e

el

- 2FSJIEH

Ofl &F2H

MEE
Ofl &k2h

100,000 »100H

Mo

10,000
2,700
1,100
6,200

H

fal

UMY

8,417,751
276,500
436,000
536,557

7,168,694

6,675,268

1,742,483

1,500,000

2,500,000

1,000,000

1,500,000

2,500,000

1,000,000

1,500,000,000&

1,500,000

1,500,000

2,500,000

1,000,000

Hon A

903,000
197,000

56,000
650,000

903,000

307 212t01&

fal

UMY

903,000
197,000

56,000
650,000

903,000

903,000,000

fal

UMY

903,000

903,000
197,000

56,000
650,000

903,000

HASH THEXIA

M

1,525,000
225,000
1,300,000

1,225,000

300,000

307 212t01&

M H

1,525,000
225,000
1,300,000

1,225,000

300,000

OHAEA MEXH

1,525,000,000&

M

1,525,000
1,525,000

225,000
1,300,000

1,225,000

300,000

EHAISH 2 X2 4] IR

M A

54,000
7,800
46,200

230,000

176,000

307 212+01™

H

54,000
7,800

230,000

A176,000
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SN ALDED
¥ UsksS NF(NSLESF/UHSnsS - =7SIIE
el o f stEE2+Ag X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 46,200
B 2=gHEXS 54,000 230,000 A176,000
OSAIZH S22l X
27,000, 0002 =2CH 54,000
= 7,800
[Ea 46,200
BARs JtE2HM =2 K& 20,400 16,000 4,400
= 3,677
= 16,723
307 elzto| & 20,400 16,000 4,400
= 3,677
Ea 16,723
QB 2=gHEXS 20,400 16,000 4,400
OBAIRS H=EM =58 XS
20,400,0002 20,400
== 3,677
o 16,723
wWSIHEe X 47,000 47,000 0
= 20,000
= 27,000
307 elzto| & 47,000 47,000 0
= 20,000
Ea 27,000
© 2=gHEXS 47,000 47,000 0
OsSHE HA DSIHE =23 XA
7,000,000& 7,000
OS0E HA nSItE 10% =2 X2
40,000,000 40,000
& 20,000
= 20,000
ORI EAl S 2N (SEE) 505,400 502,000 3,400
N 189,000
< 94,500
s 221,900
307 glztol & 500,000 498,400 1,600
N 186,300
== 93,150
[Ea 220,550
09 2FAHEXS 500,000 498,400 1,600
OWLIHAl 24 500,000,000 500,000
Xl 186,300
=S 93,150
s 220,550
308 AFAIEHMSOIH 5,400 3,600 1,800
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FAN AZUSH
¥ UsksS NF(NSLESF/UHSnsS - =7SIIE
el O & SEEsA X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Xl 2,700
=S 1,350
s 1,350
183 S 2SS B XA AIE 5,400 3,600 1,800
Ox=R2HE USUS(RT) AIAE AER
450,000 <123 5,400
N 2,700
= 1,350
o 1,350
Bete 385 =8tA 29 200,000 100,000 100,000
N 50,000
T 150,000
307 glztol & 200,000 100,000 100,000
N 50,000
= 150,000
09 2s-gAHAELES 200,000 100,000 100,000
OFds =L 28 X
200,000,000 200,000
N 50,000
o 150,000
AN 22210 XA 493,200 486,480 6,720
201 =3 18,000 486,480 A468,480
01 At22t2l] 18,000 486,480 A\468,480
Oget=ZH| 18,000
- OHIE 180,000 *100CH 18,000
308 AHXIEMSOIE 475,200 475,200
18 SIS0t HAS A 475,200 475,200
O=AIEH 2AF210 X3 475,200
—ZUZiz 132,000 x160CH* 12 253,440
-2 N= 77,0002 «240CH < 122 221,760
SWEAl 2 300,000 230,000 70,000
307 glztol & 300,000 230,000 70,000
09 2+AE2LS 300,000 230,000 70,000
OSuWEAl 2g4| X2 300,000,000& 300,000
HASK 2Lt =4 22,000 22,000
207 ARl 22,000 22,000
01 g S| 22,000 22,000
OBER SOEHA FEET2H, o
W L SN Bl H EAH AE 2
22,000,000 22,000
SBASYEE AIAY 25 29 1,793 2,359 ~b66
308 AHXIHMS0IA 1,793 2,359 Ab66
13 SI[2S0He 4 A AS A 1,793 2,359 566
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el O & SEEsA X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SENEREEN S
1,793,000 1,793
ZHLYS WSS A OrEelXl A& 3,400 1,400 2,000
= 1,700
= 680
s 1,020
308 AXIHSOIA 3,400 1,400 2,000
= 1,700
< 680
T 1,020
18 SISOt EAS A 3,400 1,400 2,000
OZHLSWNSIHE A 0telXl X
3,400,000& 3,400
= 1,700
& 680
Ea 1,020
HAZEZAIAE(BIS) S22l 46,558 43,029 3,529
308 AHXIEMSOIH 46,558 43,029 3,529
18 SIS0t oA AS A 46,558 43,029 3,529
OHAZZAIAE(BIS) SAI2e
46,558,000 46,558
HAHILSH 22 459,000 315,000 144,000
307 @I2t0| & 459,000 315,000 144,000
09 2FSHEXS 459,000 315,000 144,000
otede=sH =d24d= XA
459,000,000 459,000
HASEX DX X2AHY 1,000,000 0 1,000,000
= 172,000
= 828,000
401 Al HIZ 2018 1,000,000 0 1,000,000
= 172,000
Ea 828,000
01 AlZH| 1,000,000 0 1,000,000
OFEZ HA SR g A
1,000,000,000 1,000,000
= 172,000
o 828,000
HI5Xt EIAIEE EAIES 20,000 20,000
207 ARl 20,000 20,000
01 H1ESHI 20,000 20,000
ONISXt HAIZE ZAHES
20,000,000& 20,000
UHEnsSHl &= X2AY (k-THA) 6,000 0 6,000
= 3,000




SN ALDED
¥ UsksS NF(NSLESF/UHSnsS - =7SIIE
el o f stEE2+Ag X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,200
s 1,800
308 XtXIEMSO0IH 6,000 6,000
= 3,000
== 1,200
[Ea 1,800
13 SV 12S0He 4 A AS A 6.000 6.000
OlisnsSH &2 XFAAS (k-TH2A)
6,000,000& 6,000
= 3,000
== 1,200
o 1,800
stEASA S OX =4 100,000 100,000
= 85,000
= 15,000
401 Al HIZ 2018 100,000 100,000
= 85,000
Ea 15,000
01 AlZH| 100,000 100,000
OSXST SYXDX FHAY
100,000,000 100,000
s 85,000
s 15,000
s0lE SgHA 7Y 1,196,000 1,196,000
= 92,000
s 46,000
s 1,058,000
405 AtatE = 1,196,000 1,196,000
= 92,000
= 46,000
o 1,058,000
01 ML ESFSHI 1,196,000 1,196,000
SOHESZHA 7Y 1,196,000
-HEMaHA 430,000,000 *2CH 860,000
= 92,000
= 46,000
o 722,000
-SEMAHA 336,000,000 »1CH 336,000
HOIEAI2=S At HSRIH&H I 15,000 15,000
= 4,500
= 10,500
301 EtE NS 15,000 15,000
= 4,500
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el o f stEE2+Ag X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 10,500
03 A 2 H A0S (XL THH) 15,000 0 15,000
HRIEAl 2SS AL M2l K&
15,000,000& 15,000
== 4,500
[Ea 10,500
WSHTAIEZE =E X FH 8,708,579 4,585,127 4,123,452
= 15,728
== 2,530,000
o 6,162,851
WS - FOAIE EX & FHl 1,537,123 1,433,723 103,400
201 2= 114,355 90,955 23,400
01 At22t2ltl 10,800 9,600 1,200
ogxz 10,800
-USSEIYEeE IE AL
900,000 * 12 10,800
02 S3=gHl 103,555 81,355 22,200
OAI2&EbBI= X 15,400
-BHASZE SZ (304 A)
7,700,000 22 15,400
O=32=  HAl 83,155
—uSASI MRS
6.,000,0002 * 12& 72,000
2ok RS 700,000 * 128 8,400
g KREUH(EZTS)
1,795& %360 £ x 123 7,755
401 AlEHIZ 201 1,422,768 1,342,768 80,000
01 Al&H| 1,417,700 1,337,700 80,000
OuSHEAIZ= &1 & | 1,172,700
A S EHED WM
500,000,000 500,000
-2UFER SRS (L8 & U2 2
S0]) SHEA 30,000,000& 30,000
—wSHSI| ZX 63,000,000 *6IH 2 378,000
“WSASMOI WA
700,000 64 A 4,200
-uWSNMSI| EF A
2,500,000 1574 37,500
-2HEE £2)| £X
4,000, 0002 *200H 2 80,000
-KopPIEEs EX
3,000,000 *6IH 2= 18,000
-AERES RA2e 25,000*1,000EA 25,000
—WSHMEXE £X 100,000,000 100,000
OUSHEAIE=E RAE=
140,000,000 140,000
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ol WECHHAIdE EF 2 Hdl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OodAsadd €1 15,000,000 *57H 2~ 75,000
OHAsHE RAES 30,000,000& 30,000
03 AIZSTHY 5,068 5,068 0
OuSHMAIZdE X & 3l
1,407,700,000& »0.36% 5,068
F=XHEZNE K3 (HEALY) 5,048,720 2,450,000 2,598,720
& 2,480,000
= 2,568,720
401 Al HIZL 201 5,048,720 2,450,000 2,598,720
= 2,480,000
o 2,568,720
01 Al&H| 5,030,000 2,441,360 2,588,640
OJlz & AIEH 30,000,000& 30,000
O3 D2l BYFHTY ZLAY
2,500,000,000& 2,500,000
< 1,300,000
[Ea 1,200,000
OFg =82 SEFNUE gAY
1,200,000,000& 1,200,000
= 700,000
Ea 500,000
OEAl Al SEFIY g Ag
1,300,000,000& 1,300,000
< 480,000
[Ea 820,000
03 Al 20HHI 18,720 8,640 10,080
OFdE ucdl S =dAE S
5,200,000,000& *0. 36% 18,720
=g 24 1,929,522 701,404 1,228,118
201 ZBt=3hl 2,340 2,340
02 S3=gHl 2,340 2,340
OsE2= & HA 2,340
SIS NSx SYFXE IV 8=
110,000« 12& 1,320
SIENSA SEFXE OV d8d=
85,0002 123 1,020
401 AIEHIX R0 1,927,182 699,064 1,228,118
01 A28l 1,920,000 695,000 1,225,000
O&g LE3 SSFAY TEAE
240,000,000 240,000
OEXl Ot ST ZgAte
1,000,000,000& 1,000,000
OFXtE ZdAMe JIZ & AAIEH
50,000,000 50,000
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Z8: JZRE N(DSYSH/HELS - 2RSIIEN
&Pl WESCHHAIEE &5 & EH| (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oget MeIMSUl SSFIE gAY
155,000,000 155,000
OOt &8 SSFY TgAE
115,000,000 115,000
OUR 52U TEFUY ZLAMY
130,000,000 130,000
O8I |A 2| 30,000,000& 30,000
ON3 22 TESFUY ZLMY
200,000,000 200,000
03 AlESTHYI 7,182 4,064 3,118
OSgFxtd =g A
1,995,000, 000& +0.36% 7,182
WSAHHAIE EX X2 At 17,000 0 17,000
= 5,000
= 12,000
401 AlEHIZ 2018 17,000 0 17,000
= 5,000
Ea 12,000
01 AlZH| 17,000 0 17,000
OXrd =28 14 17,000,000 17,000
=S 5,000
s 12,000
CREELH FAELMA A=A 26,214 0 26,214
= 16,728
s 10,486
401 Al HIZL 2048 26,214 0 26,214
= 15,728
= 10,486
01 Al&H| 26,214 0 26,214
olnmet t2xELX 2AFSMA 2=
26,214,000& 26,214
= 16,728
s 10,486
MEotME FOF0 olat 150,000 0 150,000
< 45,000
= 105,000
401 Al HIZL 201 150,000 0 150,000
= 45,000
= 105,000
01 Al&H| 150,000 0 150,000
OHg - gAl 2t X S22 23
100,000,000 100,000
= 30,000
o 70,000
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Z8: JZRE N(DSYSH/HELS - 2RSIIEN
&Pl WESCHHAIEE &5 & EH| (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O2Tels OIS Lo 23S &1
50,000,000& 50,000
= 15,000
Ea 35,000
wSAHN0ISH 2F 1,306,122 873,950 432,172
= 215,500
Jl 30,000
o 1,060,622
SgussH £ 24 902,622 873,950 28,672
307 gl2to| & 902,622 775,950 126,672
05 212t =S 902,622 775,950 126,672
OSENELT S
902,622,000 902,622
SEuS+Y 728 X2 196,000 0 196,000
= 92,000
= 104,000
405 AHaHE = 196,000 0 196,000
= 92,000
= 104,000
01 MMM ESFSHI 196,000 0 196,000
OREARZHA 72
49,000,000 *4CH 196,000
= 92,000
o 104,000
HBISX Al 28 X2 84,000 0 84,000
Jl 30,000
T 54,000
301 LEIE NS 84,000 0 84,000
Il 30,000
= 54,000
14 IIEt2 83 84,000 0 84,000
OHISX @Al 28 X232
84,000,000 84,000
Jl 30,000
o 54,000
SgEuS=Y 2gH X2 123,500 0 123,500
= 123,500
307 el2to| & 123,500 0 123,500
= 123,500
05 2ItRIE =2 123,500 0 123,500
OSgus=t 29| X2
123,500,000 123,500
= 123,500
HY2HZH(ALZWEW) (DIEHIIE) 696,880 712,521 15,641
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o ry
J¥0x ux
H0 H0 RJ
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o
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™
X

WED)(OIEHIIE}
£1)

SA - Z3F - SRA(E) - HRAEY

- ESS

Ofl &F2H

H
ol &y

A H

387,307
309,573

M H

642,908
387,307
255,601

658,549

A 15,641

UMY

642,908
387,307
255,601

658,549

A 15,641

101 e124d|

M

592,541
356,965
235,576

606,957

A14,416

2,889,000& x 122~ 12&

240,000 12F 128

e k== 100,000 x12&«12&

100,000&x 1+ 12&

680,000& * 128

2,889,000 +60%* 125 23]

M M H MO UMY A H

UMY A H

A H

592,541
592,541
416,016
250,622
165,394
34,560
20,820
13,740
14,400
8,675
5,725
1,200
723

477
8,160
4,916
3,244
41,602
25,062
16,540

61,876
37,276
24,600

14,727
8,871
5,856

606,957

A14,416

UMY

50,367
30,342
20,025

51,592

A1,225

50,367

51,592

N1,225
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